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I
EX:01 : (6Pts) 4 :
The power of a single lamp is 260W and Vr=110V R=5Q
a)- What are the active and reactive powers consumed by the installation? Vr
b)- What is the power factor? .
c)- What is the effective intensity of the current (I) in the line cable? * 20 lampes Moteur P=4 kW
cos® =08
po=4n 107 H/m

EXE 01 : (8Pts)

Consider the following circuit, the current intensity is 2 A, the

relative permeability of the material is p=2500 with an air I
gap thickness of 0.5 cm, the number of turns is 250. Knowing E
that the depth is 4 cm, calculate: 1 ik
RS e o
a)-Calculate the reluctance of this circuit (material and air . Sl
gap) and calculate the magnetic flux ? Give the equivalent | i
electrical diagram? 20
. 4 cm

b)- Indicated what this information corresponds to, taken
from the nameplates of two transformers: Yy6 and DyS5

EXE 03 : (6Pts)
We consider the circuit represented in the figure 03 . Knowing that V(t)= 220 V2sin314t.

1- Calculate the impedances of each branch
2- Calculate the equivalent impedance (Z.,) and the current i(t),
3- What is the nature of the charge ’
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